
 
 
 

 
ROLAMENTO 22214 E K SKF PC ARS 22214 EK 4 

ROLAMENTO 22314 EK SKF PC 35000092 22314 EK 2 

ROLAMENTO 22318 E SKF PC 35000092 22318 E 1 

ROLAMENTO 22324 CC K W33 C3 SKF PC 35000092 22324 CCK C3 W33 2 

ROLAMENTO ESF 6009 Z SKF PC 35000092 6009 Z 1 

ROLAMENTO ESF 6310 RS1 SKF PC 35000092 6310 RS1 2 

ROLAMENTO ESF 6313 2RS1 SKF PC 35000919 6313 DDU AV2S 4 

ROLAMENTO ESF 6410 C3 SKF PC 35000092 6410 C3 6 

ROLAMENTO ESF 51310 SKF PC 35000092 51310 1 

TIRA BORR;5000MM;141,4MM;8MM PC 35000057 AR 141.144 4 

PARAF;1.1/2";CIL;GENERAL MOTORS;0138292 PC 35000013 138292 92 

VALV;ESFERA;1/4";LATAO ASTM B124 C377 PC 35000859 964 DN6 51 

VALV;DIAFR;1/2" BSP;POLIPROPILENO PC 35000315 TIPO A 7 

JG;VALV;1.1/2";VALVULA 11/2" JG 35000098 K72GF 4 

ROLAMENTO 21305 CC SKF PC 35000092 21305 CC 1 

ADAPT;TUBO;MACHO;LATAO;PARKER;4 6F50X S PC 35000098 4 6F50X S 10 

JG;CIL;PARKER;32.100.40V E84,06 JG 35000098 32.100.40V E84,06 1 

DIAFRAGMA;3";BORRACHA;"Q";"A" PC 35000315 DIAF DUCA NBR 3 POL 24 

ANEL O;30MM;4,5MM;VITON;75 SHORE A PC 35000098 6 381 V3247 75 9 

ANEL O;110,72MM;3,53MM;VITON;75 SHORE A PC ARS 75 SHORE A 8 

JG;RET;NITRILICA;125MM;100MM;ABERTO PC 35000025 01549 BR 3 

PARAF;AJ;CIL COM FENDA;1/8";1.1/2";ACO PC ARS 1/8"X1.1/2" 64 

ROLAMENTO ESF 6213 2Z SKF PC 35000920 6213 ZZ 2 

JG;CIL HID;VEDACAO JG 35001123 125/100 
SA20766MCO 

1 

PARAFUSO CAB SEXT 1.1/4POL PC ARS 1.1/4" 2 

PARAF;1.1/4";CHATA;SEXT;ACO;3/8";NF;5140 PC ARS 5140 265 

PARAF;SEXT;SEXT;3/8";1.1/4";24 PC ARS 3/8"X1.1/4" 65 

PARAF;SEXT;SEXT;3/8";1";24;ACO CARBONO PC ARS 3/8"X1" 24 

ARRUELA 10MM 17,2MM PC ARS 10MMX17,2MM 4 

ARRUELA TRAVA MB 27 PC ARS MB27 3 

MANGUEIRA SISTEMA DE REGULAGEM PC 35020536 1028 7725 12 3 

ACOPLAMENTO FLEXIVEL TIPO A; A-105 PC 35000608 A 105-CN/CN 2 



CUNHA 6737191 BOBCAT PC 35000226 6737191 6 

ARTICULACAO PORTA;7168837;BOBCAT PC 35000226 7168837 4 

MANCAL ROLAMENTO;FLANGE;20MM PC 35000560 FL 204 4 

CAIXA ROLAM;FOFO NOD;110MM BLOQUEADO PC 35001424 SNHL 524 TA 8 

PA;MART;1.1/4" PC TRAMONTINA 480/00 1 

PA;300MM X 430MM;QUADRADA PC METISA 2026 2 

 


